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A% = 0.0005

# TIDE ANALYSIS AT KUSHIRO RIVER (1-30)

N

= “EA”

DIMENSION X (30), Y (30), S (29), D(30), A (30), R(4) C{4), XA (30), YA (30), X8(30), DX (29)

READ 1, X, Y, DX, DT, T
DO 111I=1,29
151 S(I) = DT/DX(I)
K=0
152 T =T+DT
T1 = T:k0.00007028

K = K+1
DO 150 I =1, 30
150 X8(I) = X(I)+0.8

1) =

(
( 8 (1)~1.1) 801, 801, 101

(—2.03 3k X8 (1)+16.637) sk X8 (1)—19.1) 3k X8 (1)+5.965

X8(1)—538.363

101 ( ) = ((—137.53 sk X8 (1)+1212.192) sk X8 (1)—4062.302) sk X8 (1)+6874.844
D (1) = (D (1) 3k X8 (1)—6254.604) sk X8 (1)+2905.423) 3
GO TO 2102
801 D(1) =098
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2102

102

802
2103

103

803
2104

104

804
2105

105

805
2106

106

806
2107

107

807
2108

108

808
2109

109

809
2110

( ) = ((—2.03 3k X8 (2)+16.028) >k X8 (2)—15.833) sk X8 (2)+4.22
F (X8 (2)—1.0) 802, 802, 102
D( ) = ((—137.53 sk X8(2)+1129.674) 3k X8 (2)—3476.8355) 3k X8 (2)+5368.392
D(2) = (D (2) 3%k X8(2)—4423.973) sk X8 (2)+1845.097) sk X8 (2)—303.886
GO O 2103
D@2 =
A( = ((—2.03 >k X8(3)+15.419) >k X8 (3)—12.688) sk X8 (3)+2.795
F (X8 (3)—0.9) 803, 803, 103
D (3) = ((—137.53 sk X8(3)+1047.056) 3¢ X8 (3)—2932.678) >k X8 (3)+4087.865
D (3) = ((D (3) sk X8(3)—3010.976) 3k X8 (3}4+1108.003) 3k X8 (3)—158.584
GO TO 2104
D(3) = 098
A (4) = (—2.03 k X8 (4)+14.81) 5k X8 (4)—9.665) 3k X8 (4)+1.678
TF (X8 (4)—0.8) 804, 804, 104
D (4) = ((—137.53 sk X8 (4)+964.538) sk X8 (4)—2429.88) sk X8 (4)+3016.709
D (4) = (D (4) 3% X8 (4)—1950.319) sk X8 (4)+617.23) >k X8 (4)—74.09
GO 1() 2105
D{4) =
A (5) = ((—2.03 3k X8 (5)+14.201) sk X8 (5)—6.764) > X8 (5)+0.853
IF (X8 (5)—0.7) 805, 805, 105
D (5) = ((—137.53 3k X8 (5)+882.02) 3k X8 (5)—1968.24) sk X8 (5)+2138.46
D (5) = (D () sk X8 (5)—1181.66) %k X8 (5)-+308.42) >k X8 (5)—-29.086
GO TO 2106
D(5) = 0.98
A(6) = ((2.3923 sk X8 (6)—15.0992) % X8 (6)+32.3475) >k X8 (6)—19.5652
A (6) = (A (6) 3k X8 (6)+7.2835) 5k X8(6)—0.8835
IF (X8 (6)—0.8) 806, 806, 106
D (6) = (((1212.599 sk X8 (6)—4316.491) 3k X8 (6)+-5401.16) sk X8 (6)—2595.708) sk X8 (6)+335.688
GO TO 2107
D(6) = 2.12
A (7) = ((0.846 k X8(7)—1.7378) sk X8 (7)-~3.5214) 3k X8 (7)+16.9458
A7) = (A(7) %k X8(7)+1.3276) 5k X8 (7)—0.4805

IF (X8 (7)—0.5) 807, 807, 107

D (7) = ((869.879 sk X8 (7)—1736.881) k X8 (7)+1283.575) sk X8 (7)—313.492
GO TO 2108

D(7) = 281

A (8) = ((—0.5863 sk X8 (8)+5.3863) sk X8 (8)+13.0121) sk X8 (8)—1.4194
IF (X8 (8)—0.51) 808, 808, 108

D (8) = ((1043.237 sk X8 (8)—2004.183) sk X8 (8)-+1554.665) 3k X8 (8)—406.615
GO TO 2109
D(8) = 3.36
A (9) = ((—2.9577 3k X8(9)+17.8361) sk X8 (9)—40.6704) sk X8 (9)+44.8646
A (9) = (A (9) k X8(9)+0.1694) sk X8 (9)+0.3210

IF (X8(9)—0.2) 809, 809, 109

D (9) = ((946.654 *k X8 (9)—1107.604) >k X8 (9)+479.85) % X8(9)—49.71
GO TO 2110

D(9) =95

A (10) = (2.91 % X8 (10)+18.672) 3k X8 (10)4-0.654

IF (X8 (10)—0.2) 810, 810, 110
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110

810
111

112

113

813

2114

114

814
215

115

816
2117

117

817
2118

118

121

D (10) = {(1020.128 sk X 8 (10)— L021.505) sk X8 (10)+477.796) 3k X8 (10)—52.421
GO TO 111

D (10) = 10.439

A(11) = (2.34 sk X8(11)4-20.424) sk X8 (11)+2.078

D (11) = ((886.926 s} X8 (11}—359.605) sk X8 (11)+57.955) sk X8 (11)+0.54

A (12) = {(0.9631 s} X8 (12)—1.2664) sk X8 (12)+24.685) sk X8 (12)+24.29

D (12) = {(2118.7 sk X8 (12)—4093.7) sk X8 (12)+3082.0) sk X8 (12)+3565.9) sk X8 (12)+368.61
A (13) = (7.385 3 X8 (13)—24.035) 5k X8(13)+19.708

IF (X8 (13)—2.0) 813, 813, 113

D (13) = ((7.0928 sk X8 (13)—37.2957) sk X8 (13)+65.3192) sk X8 (13)—38.1007
GO TO 2114

D(18) = 0.1

A (14) = (9.936 sk X8 (14)—29.72) sk X8 (14)422.223
IF (X8 (14)—1.8) 814, 814, 114
D (14) = {(25.9 sk X8 (14)—128.096) 3k X8 (14)-+210.778) sk X8 (14)—115.363
GO TO 2115
D(14) = 0.06
A (15) = (21.533 sk X8 (15)—66.713) >k X8 (15)+51.453
IF (X8 (15)—1.8) 815, 815, 115

D (15) = ((7.6967 s} X8 (15)—19.5465) s} X8 (15)—0.00014) sk X8 (15)-+-18.6411
GO TO 2116

D(15) = 0.2

A (16) = (20.0 sk X8 (16)—40.0) 3 X8 (16)-+20.0

IF (X8 (16)—1.5) 816, 816, 116

D (16) = (723.233 s} X8 (16)—3655.265) s} X8 (16)4-6914.117

D (16) = (D (16) 3 X8 (16)—5793.053) 3} X8 (16)+1810.968

GO TO 2117

D (16) = 6.0 3k X8 (16)—6.0

AQT) = (((4 1130 sk X8 (17)—27.4341) sk X8 (17)+-70.5782) sk X8 (17)—55.8436) 3k X8 (17)4-13.5474
1F (X8 (17)—0.8) 817, 817, 117
D(17) = (((86.579 sk X8 (17)-+414.9) sk X8 (17)—1623.751) 3k X8 (17)-+1685.328) 3 X8& (17)—556.833
GO TO 2118
D{17) = 0.12

A (18) = (((—1.7256 sk X8 (18)+6.1444) sk X8 (18)+1.7811) sk X8 (18)+7.8983) sk X8 (18)—2.4610
IF (X8 (18)—0.45) 818, 818, 118

D (18) = (((394.887 sk X8 (18)—725.406) 3k X8 (18)4-521.166) sk X8 (18)—151.061) sk X8 (18)+13.354
GO TO 2119

D(18) = 1.003

IF (X8 (19)—0.9) 819, 819, 119

A(19) = 0.327

GO TO 2120

A(19) = ((—5.634 sjc X8 (19)+35.406) sk X8 (19)—38.455) sk X8 (19)4-10.365

D (19) = (((255.958 sk X8(19)—614.231) sk X8 (19)4-326.509) sk X8 (19)+155.869) 3k X (19)— 123.254
A (20) = (((—1.6869 sk X8 (20)+4.7432) sk X8 (20)+4.3979) sk X8 (20)418.5027) sk X8 (20)—8.2454
D (20) = ((—93.115 3k X8 (20)4-1031.881) sk X8 (20)—1546.693) sk X8 (20)1150.500

D (20) = (I (20)—506.517) 3 X8 (20)+-95.172

A (21) = ((—6.3054 sk X8 (21)-+34.2334) sk X8 (21)—68.9979) sk X8 (21)+67.1983

)= (-
A(21) = (A (21) sk X8 (21)—2.4827) sk X8 (21)+2.2422



D

)

1)

= (7529754 3k X3 (21)—6048.500) sk X8 (21)+18518.53) sk X(21)—26967.35
21

D (21) = (D (21) sk X8 (21)+20280.15) sk X8 (21)—6840.922) sk X8 (21)--821.8652) sk X8 (21)
122 A (22) = (—1.19929 sk X8 (22)+8.2226) sk X8 (22)—22.19877) sk X8 (22)-+33.67666
A (22) = (A (22) 5k X8 (22)—0.27186) sk X8 (22)+0.10706
D (22) == ((170.043 sk X8 (22)—1417.621) 3k X8 (22)+4448.246) sk X8 (22)~6371.325
D (22) = (D (22) 3k X8 (22)+4881.843) sk X8 (22)—1740.147) sk X8 (22)+223.6980) sk X8 (22) —3.16681
123 A (23) = ((—2.0244 ¢ X8 (23)+12.549) sk X8 (23)--20.5412) sk X8 (23)-+2.7979
D (23) = (—1620.855 sk X8 (23)410495.88) sk X8 (23)—20960.15) sk X8 (23)—2448.857
D (23) = (1D (23) sk X8 (23)+66371.90) 5k X8 (23)—97607.13) sk X8 (23)+60182.51
D (23) = (D (23) sk X8 (23)— 14074.56) sk X8 (23)+5350.4881) sk X8 (23)+226.6720) 3k X8 (23)—3.561033
124 A(24) = ((0.72522 sk X8 (24)+ 1.6784) sk X8 (24)+-43.206) 3k X8 (24)+45.426
D (24) = ((—53862.5 sk X8 (24)+22245.0) sk X8 (24)—537707.0) 3k X8 (24)+54420.0
D (24) = (D (24) sk X8 (24)+1559.8) %k X8 (24)+2174.0
125 A (25) = (7.9212 3k X8 (25)+43.376) sk X8 (25)+50.746
D (25) = {(—6379.1 sk X8 (25)+22598.0) sk X8 (25)—~5361.4) 5k X8 (25)— 424450
D (25) = (D (25) 3k X8 (25)+49931.0) 3k X8 (25)—138.84) sk X8& (25)42700.7
126 A (26) = 115.0+90.0 sk X8 (26)
D (26) = ((14901.19 sk X8 (26)—45680.47) 3k X8 (26)-+55184.26) 3k X8 (26)+29681.46
D (26) = (DD (26) sk X8 (26)+43929.85) sk X8 (26)+25077.37
127 A(27) = (18,045 >k X8 (27)-67.44) sk X8 (27)+89.524
D (27) = ((31343.0 3¢ X8 (27)—578.0) sk X8 (27)+17754.0) 3k X8 (27)+13411.0
128 A (28) = 97.04146.5 sk X8 (28)
D (28) = ((—27456.83 sk X8 (28)+141180.9) sk X8 (28)—205695.0) 3k X8 (28)+201912.7
D (28) = (D (28) 5k X8 (28)—13804.28) sk X8 (28)+11936.10
129 A(29) = 156.0--126.0 sk X8 (29)
D (29) = ((8445.545 sk X8 (20)—46175.58) sk X8 (29)+92751.2) 3¢ X8 (29)—49148.19
D (29) = (D (29) sk X8 (29)+111723.1) sk X8 (29)+82949.82) sl X8 (29)+32473.43
130 A (30) = 790.04200.0 sk X8 (30)
D (30) = (((—84279.31 3k X8 (30)4-249201.8) 5k X8 (30)4-789877.2) sk X8 (80)43411727.0) 3k X8 {30)+3915580.0
132 I=1

298 IF (I—12) 133, 500, 134
133 GO TO (201, 202, 203, 204, 205, 206, 207, 208, 209, 210, 211), 1

201 = ((4.936 3¢ X8 (1)—34.811) sk X8 (1)+89.75) sk X8 (1)—108.454
B = (B X8(1)4+81.722) % X8 (1)—25.108
V = (((—0.784 3} X8 (1)4+5.231) sk X8 (1)—12.657) 3k X8 (1)4- 14.455) sk X8 (1)—4.805
P =YWMJAL)-V
Q=Y (/A {L)+V
Y (1) = 00
YR — Y (1) sk (LO-S (1) sk ABSE(P)4Y () 3 5 (1) 5k ABSF (P)
XR = N (1) sk (LO=S (1) 3k ABSE (P) -+ X (2) >1< S (1) sk ABSE (P)
XA (1) = XR—(YR-Y (1))13 sk Q)—DT sk P/D (1) sk Y (1) % ABSF (Y (1)) %k 0.0005
YA(L) = Y (1)
GO GO 500
202 = ((4.936 >k X8 (2)—32.343) 3% X8 (2)+76.32) >k X8(2)—83.57
B = (B 3 X8(2)462.587) 3 X8(2)—18.234
Vo= ((—0.784 sk X8 (2)+4.918) sk X8 (2)—11.135) sk X8 (2)+12.077) sk X8 (2)—3.481
P =YE/A2-V
Q=Y2/ALZ)+V
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203

205

206

207

208

GO TO 200

B = ((4.936 3 X8 (3)—29.876) 3k X8 (3)-+63.876) sk X8 (3)—62.564

B = (B sk X8(3)+48.036) 5k X8 (3)—12.738

Vo ((( 0.784 3k X8 (3)+4.604) 3k X8 (3)—9.707) sk X8 (3)+9.995) sk X8 (3)—2.38
P = Y(3)/A(3 )~V

Q=Y B/AEG)+

GO TO 200

= ((4.936 s} X8 (4)—27.408) sk X8 (4)+52.419) 3k X8 (4)—45.145

B - (B >k X8 (4)+37.322) sk X8 (4)—8.199

Vo= ((—0.784 sk X8 (4)44.291) sk X8 (4)—8.373) sk X8 (4)+8.189) 3k X8 (4)—1.4726

P =Yd/AH ) v

Q=Y@/AHA+

GO TO 200

B = ((4.936 >,v< X8 (5)—24.94) sk X8 (5)+41.95) sk X8 (5)—31.014

B = (B %k X8(5)4+29.759) sk X8 (5)—5.168

V = (((—0.784 3k X8 (5)+3.977) sk X8 (5)—7.132) >k X8(5)+6.6395) 3k X8(5)—0.733

P =Y (5/A(H)-V

Q=YB/AB)+V

GO TO 200

B = (((9.5649 3 X8 (6)—75.6623) 3kt X8 (6)+194.171) sk X8 (6)—34.9595) sk X8 (6)—762.2754
B = (B 3k X8(6)4-1623.342) sk X8 (6)—1565.995) >k X8 (6)4-795.1715

B = (B3 X8(6)—199.12) 3k X8 (6)+34.7339) sk X8 (6)—2.5504

V = ((—6.5789 sk X8 (6)-64.0808) sk X8 (6)—261.6624) 3k X8 (6)-+580.9473) sk X8 (6)—760.9842
V = (V% X8(6 )+597.034) sk X8 (6)—271.4724) sk X8 (6)+66.0433) 3k X8 (6)—5.4366

P =Y {B)/A6)—

Q =Y {6)A(6)+

GO TO 200

B = (((15.8089 3k X8(7)—107.2304) sk X8 (7)+278.9673) sk X8 (7)—338.4639) >k X8 (7)+171.7652
B = (B 3k X8(7)+2.9684) sk X8 (7)—2.03755

V = {(1.8118 sk X8(7)—10.6123) sk X8 (7)}-+23.1546) sk X8(7)~-23.332

V = (V 3k X8(7)+12.2681) 3k X8(7)—0.8889

P =Y(@/A D) V

Q = Y({@/AT+

GO TO 200

B = (((75.2792 ¢ X8 (8)—600.17) sk X8 (8)+1945.617) sk X8 (8)—3292.207) >k X8 (8)43103.53
B = (B sk X8(8)—1610.66) 3k X (8)+430.799) >k X8 (8)—29.3313

V = ((—3.03667 3k X8 (8)420.80725) sk X8 (8)—55.9614) 3k X8 (8)-+74.8254

V= {(V sk X8 (8)—52.151) 3k X8 (8)+19.5288) 3k X& (8)—L.31105
P =Y@®8/AB—-V

QO =Y@B/A@B)+V

GO TO 200

B = ((L.582 :k X8 (9)—13.909) sk X8 (9)+47.0395) 3k X8 (9)—76.7672

B = (B sk X8 (9)+63.628) sk X8 (9)+2.89614

V o= ((3.87102 3k X8 (9)—27.6395) 3k X8(9)477.421) sk X8 (9)—106.86) 3k X8 (9)-+74.2493
V = {(V 3k X8(9)—23.48) sk X8 (9)44.444) 3k X8(9)-+-0.8275

P =Y(@©@/A@O -V

Q = Y (9/A (9)+V

GO TO 200

B = ((4.086 sk X8 (10)—14.647) 3k X8 (10)+20.632) sk X8 (10)+15.037



V = ((0.158 3k X8{10)—0.89) 3l X8 {10)42.604) 3 X8 (10)4-1.015

((0.193 3k X8 (11)—1.097) sk X8 (11)+2.988) sz X8 (11)-+1.035

p
Q
G
211 B = {(3.001 s} X8 (11)-—10.938) 3k X8 (11)16.233) 3§ X8& (L1)-+17.099
V=
P = Y(1JA(I1)-V

Q

=Y QL)/A(11)+V
GO TO 200
200 IX=1
AX = A(I—-1)
AY = A1)
AZ = A(I+1)
GO TO 1000
1001 IX =2
AX =D (I-1)
AY = D(I)
AZ =D (I+1)
GO TO 1000
002 IX =3
AX = X (1—1)
AY = X(I)
AZ = X (1+1)
GO TO 1000
1003 1IX =4
AX = Y (I-1)
AY = Y (1)
AZ =Y (1+1)

1000 R(IX) = AX sk SU—1) 3k Q-FAY 3 (1.0=5 (1—1) 3k Q)
(IX) = AZ 3 S (1) sk ABSE (P)+AY sk (LO—8 (I) sk ABSF (P))

GO TO (1001, 1002, 1003, 1004), IX

1004 XA =Bk (PkREB)—-Qk CE)—R4)+C(4)
XA(L) = XA (1)44.9 5 0.0005 3 DT sk (R (4)/R (2) sk ABSF (R {(4)) 3k R{1)—C {(1)/C (2) 3k ABSE (C(4)) sk C (1))
XA = XA (B k (P—Q))
YB = Bk P sj (XA 1)~ R (3))+R (4)—4.9 %k 0.0005 3 DT 3k R (1)/R (2) sk ABSF (R (4)) sk R (4)
YC = YB—4.9 3 0.0005 3k DT sk A (1)/D (I) 3k Y (I) sk ABSF (Y (I))
YD = 053k (YC+Y (D))
YA (1) = YB—4.9 3k 0.0005 sk DT sk A (/D (I} 3k YD sk ABSE (YD)
YA (D) = 05k (YD+YA L)
GO TO 500

134 1F (1—24) 135, 500, 136

135 L =1-12

GO TO (213, 214, 215, 216, 217, 218, 219, 220, 221, 222, 223), L

213 B = 16.28 3k X8 (13)—26.86
V = ((30.625 sk X8 (18)— 177.004) sk N8 (13)+342.907) sk X8 (13) — 221,156
P = Y (13/A(13)—V
O = Y(I3)/A (13+V
Y (18) = 0.3
YR = Y{13) sk (10— S (13) 3k ABSE (P))1 Y (14) 3k S (13) 3k ABSE (P)
XR = X (13) 3k (1L.0—S (13) 3k ABSF (P)+X (14) sk S (18) 3k ABSF (P)

I



214

215

216

217

218

219
3000

3001
3002

220

XA (13) = XR—(YR—Y (18)/(B s Q)— DT sk P/D (13 s Y (13)) sk ABSF (Y (
YA(13) = Y (13)
GO TO 500

B = 20.4 3k X8(14)—30.6

V = ((17.344 sk X8 (14)—95.2) 3k X8 (14)+175.756) sk X8 (14)—107.849
P = Y (14)/A (14)—

Q = Y (14/A (14)+V

GO TO 200

B = (—58.28 sk X8 (15)4262.8) 3k X8 (15)—274.65

V = ((—387.5825 sk X8 (15)4-2072.7) sk X8 (15)—2054.04) sk X8 (15)—6584.05
V = (V s X8 (15)+15657.6) 3¢ X8 (15)—9305.72

P = Y(I5)/A(15)—V

Q = Y (15/A (15)+V

GO TO 200

B = ((440.55 3k X8 (16)—3236.06) sk X8 (16)--9314.19) sk X8 (16)—13146.72
B = (B sk X8(16)+9156.76) 5k X8 (16)—2528.8

V = ((—27.2405 sk X8 (16)+303.096) 3k X8 (16)—1362.9) 3k X8 (16)+ 31815
V = ((V 5k X8 (16)—4074.69) sk X8 (16)-+-2719.57) sk X8 (16)~739.2

P = Y (16)/A (16)—=V ’

Q = Y(16)/A(16)+V
GO TO 200

H

((24.946 sk X8 (17)—119.023) 3k X8 (17)+191.036) sk X8 (17)—76.433

V = ((—27.4006 sk X8 (17)-+222.82) sk X8 (17)—736.56) 3k X8 (17)+1263.81
V = ((V sk X8 (17)—1184.42) sk X8 (17)4+-575.6) sk X8 (17)—112.36

P =YQ7yAI7)-V

Q=Y Q7/A(17+V

GO TO 200

B = ((—5.03113 3 X8 (18)+59.1542) sk X8 (18)—248.94) 3k X8 (18)--499.33
B = (B sk X8 (18)—516.508) sk X8 (18)-+281.845) sk X8 (18)—45.6055

V = (10996 sk X8 (18)—7.38445) sk X8 (18)+10.3214) sk X8 (18)—24.5747
V = (V sk X8 (18)416.4776) sk X8 (18)—2.7882

P = Y (I8/A (18)—V

Q = Y (I8/A (18)4-V

GO TO 200

IFF (X8 (19)—0.85) 3001, 3001, 3000

B = ({70.945 sk X8 (19)—3820.403) 3k X8 (19)4-488.01) s X8 (19)—221 486
GO TO 3002 -

B = 0263

V = ((1.742 sk X8 (19)—8.829) 3k X8 (19)+16.296) sk X8 (19)—8.327

P = Y(19/A (19)—

Q = YI9/A(19}+V

13)) 3k 0.0005

GO TO 200
B = ((—23.9178 sk X8 (20)+220.73) sk X8 (20)—835.258) ¥ X8 (20)-+1660.09
B = (B sk X8(20)—1830.11) sk X8 (20)--1067.55) * X8 (20)—221.61
V = (((—2.5001 sk X8 (zr)+u 979) sk X8 (20)—24.356) sk X8 (20)+21.104) 3k X8 (20)—
P = Y (20)/A (20)—
=Y (20)/A ()0)+V
GC) TO 200

B = ((36.2782 sk N8 (21)--227.265) 3k X8 (21)+-536.32) sk X8 (21)—578.36



222

223

226

228

229

B = (B sk X8(21)+257.68) 3k X 8 (21)—3.3573) sk X8 (21)+9.8505
V = (((0.3153 sk X8 (21)— 1.5173) sk X8 (21)+2.247) sk X8 (21}-+0.327) sk X8 (21)4-1.4508
P = Y (21)A (21)—V
Q = Y 2U/A 214V
GO TO 200

H

((3.41508 3k X8 (22)—17.277) sk X8 (22)+25.336) sk X8 (22)+-8.3419
(B sk X8 (22)—59.135) sk X8 (22)+66.822) sk X8 (22)+0.0781

V = (((—0.30485 sk X8 (22)+1.4102) 3k X8 (22)—2.5617) 3k X8 (22)4-3.5563) sk X8 (22)+0.4441
P = Y (22)/A (22)—V

O = Y (22)/A (22)+V

GO TO 200

B = ((—10.1575 3k X8(23)476.9833) %k X8 (23)—222.873) 3k X8 (9?>+ 715
B = ((B sk X8(23)—215.96) 3k X8(23)--86.028) >k X8 (23)+15.54

V = ((0.4874 3 X8 (23)—3.4783) 3k X8 (23)+9.4826) %k X8 (23)— 2137

V = ((V 3k X8(28)+6.8612) sk X8(23)--0.3161) sk X8(23)+1.3813

P =Y (23)/A(23)—-V

Q = Y (23/A(23)+V

GO TO 200

L =1-24

GO TO (500, 226, 227, 228, 229, 230), L

B = 198.0

V = 0.705 sk X8 (30)+6.27
P = Y(30A (30)—V
Q = Y (30)/A (30)+V

X (30) = 0.063+0.4613 =k COSF (T1)—0.2255 sk COSF (2. 5k T1)—0.0114 sk COSF (3. 3k T1)
X(30) = X (30)+o 003 sk COSE (4. sk T1)—0.0004 3k COSF (6. 3 T1)4-0.0013 sk COSF (8. %k T1)
X (30) = X (30)—0.1516 sk SINF (T1)40.3433 sk SINF (2. 3 T1)+-0.0061 s SINF (3. 3k T1)
X(30) =X 30 10,0025 3k SINF (4. 3k T1)—0.0001 sk SINF (6. 3k T1)40.0084 3k SINF (8. 5k T1)
XR = X (29) 3k S (29) 3k Q+X (30) %k (LO—S(29) %k Q)
YR = Y (2 )"a (29) 3k Q+Y (30) 3k (1.0—S(29) 3k Q)
YA (30) = YR+(X (30)—XR) 3k B sk P—9.8 sk DTYD (30) 5k A (30) 3k Y (30) 3 ABSF (Y (30)) 3k 0.0005
XA (30) = ( 0)
O TO 500

G

B = {((—3.5469 sk X8(26)+13.74) sk X8 (26)—19.5833) sk X8 (26)+21.066) sk X8 (26)+77.2873
V = 0.82 %k X8(26)4-3.9

P = Y (26)/A (26)—~V

O = Y (26)/A (26)+V

GO TO 200

B = ((31.61 sk X8 (27)—124.67) sk X8 (27)+134.93) »k X8 (27)—1.02) 3k X8 (27)+68.66

V = (((—0.67 sk X8 (27)-2.89) sk X8 (27)—3.764) 3k X8 (27)+2.086) 3 X8 (27)+3.506

P =Y 27)A(27)—V

Q =Y @2W/AE2)+V

GO TO 200

B = (((—16.737 sk X8(28)+83.451) sk X8 (28)—151.644) 3k X8 (28)+133.08) 3k X8 (28)+100.662
V = 0.965 sk X8(28)+3.0

P =Y (28)/A (28)—V

Q = Y (28)/A (28)+V

GO TO 200

B = 1260

— 38 —



T

V = ((—0.0752 sk X8 (20) +0.4826) 3k X8 (20)—1.0314) k X8 (29)40.6932
V = (V sk X8 (29)+1 0825) 3k X8 (29)43.631

P = Y (20)/A (29)—

0 = Y (29)A (29)+v

GO TO 200

I=I+1
IF (T—30) 298, 298, 501

B12 = ((—0.88914 sk X8 (12)+4.8071) sk X8 (12)—3.2657) sk X8 (12)4-24.62
B24 = ((9.3279 sk X8 (24)—40.068) sk X8 (24)+85.636) 3k X8 (24)—51.762
B24 = (B24 3¢ X8 (24)+-9.576) 3k X8 (24)-+44.99

B25 = ((—3.6347 3k X8 (25)+51.475) sk X8 (25)—197.29) 5k X 8 (25)4-296.02
25 = ((B25 sk X8 (25)—166.16) sk X8 (25)+29.585) 3k X8 (25)-+49.364

712 = (((0.14763 sk X8 (12)—0.4554) sk X8 (12)4-0. 04039) sk X8 (12)+1.4969 sk X8 (12)4-3.1291

(t
V24 = ((—0.38699 sk X8 (24)+2.0056) 3k X8 (24)—3.3737) sk X8 (24)+1.7037
V24 = (V24 3k X8 (24)+1.1906) 3k X8 (24)+3.1369
(
{

!

V25 = (((1.6922 % X8 (25)—11.969) sk X8 (25)-+32.432) sk X8 (25)—41.658) sk X8(25)+25.533
(V25 sk X8 (25)—7.1955) sk X8 (25)4-2.1837) sk X8 (25)+3.126

V25 =
P12 = Y (12)/A (12— V12
P24 = Y (24)/A (24)— V24
P25 = Y (25)/A (25)— V25
Q12 = Y (12/A (12)+ V12
Q24 = Y (24)/A (24)+ V24

025 = Y (25)/A (25)+ V25
Al = 1.0/(B25 sk Q25)
A2 = 1.0/(B24 %k Q24)
A3 = 1.0/(B12 3k Q12)
W1 = —DT 3k P25 3k Y (25) sk ABSF (Y (25))/D (25) 3k 0.0005
W2 = —DT sk Q24 3k Y (24) sk ABSF (Y (24)/D (24) 3% 0.0005 3k 2.2
W3 = —DT sk Q12 3k Y (12) sk ABSF (Y {12))/D {12) 3 0.0005 5 1.3

{
X1 = X (25) 3k (1.0—S (25) sk ABSF (P 25))+X (26) %k S (25) sk ABSF (P25)
X2 = X (24) sk (1.0—S (23) sk Q24)+X (23) 3k S (23) 3k Q24
X3 = X (12) sk (1.0—S (11) 3k Q12)+X (11) 3k S (11) 3k Q12
Y1 = Y(25) % (LO—S (25) sk ABSF (P25))+-Y (26) 3k S (25) 3k ABSF (P25)
Y2 = Y (24) 5k (1.0—S (23) 3k Q24)+Y (23) 3k S (23) k Q24
Y3 = Y (12) % (1.0—S (11) 3k QI2)4+Y (11) 3k S (11) 3k Q12
(

H124 = (X1—X24(A2— A1 sk A2/A3) 3k Y2+ AL sk (Y3—Y1)— W2-- W1+ AT/A3 3k (X2— X3+ W2—W3))//
(A2—A1—Al sk A2/A3) '

E25 = X2+A2 3k (H124— Y2+ W2

H112 = (E25— X3+ A3 sk Y3—W3)/A3

H125 = (E25—X1+Al 5k Y1—WI1)Al

G25 = 05 3%k (H125+Y (25))
G24 = 0.5 3k (H114+Y (24))
G12 = 05 sk (H1124+Y (12))

W1l = —DT sk P25 3k G25 sk ABSF (G25)/D (25) 3k 0.0005

W12 = —DT sk Q24 5k G24 sk ABSF (G24)/D (24) 3% 0.0005 % 2.2

W18 = —DT sk Q12 3k G12 %k ABSF (G12)/D (12) 3k 0.0005 3k 1.3

YA (24) = (X1~X2+(A2— Al sk A2/A3) 3 Y24+ Al 3k (Y3—Y1)— WI24+ W1+ A1/A3 sk (X2— X3+ W12 |
—WIR/(A2—AT—Al sk A2/AB)



300

301

8000
8001
153

600
601
602
603
604
605

160

E35 = X24+A2 3k (YA (24)—Y2)+ W12

YA (12) = (E35—X3+A3 5 YS—W13)/A3
YA (25) = (E35—X14Al sk YI—WI1)/Al
YA (25) = 0.5 % (G254 YA (25))
YA (24) = 0.5 3k (C24+YA (24))
YA (12) = 0.5 3k (G12+ YA (12))

W22 = —DT sk 024 3% YA (24) sk ABSF (YA (24))/D (24) 3k 0.0005 sk 2.2
XA (25) = X2+ A2 3k (YA (24)—Y2)+ W22

XA (24) = XA (25)

XA (12) = XA (25)

Il

i

DO 301 I=1, 30
X(I) = XA ()
Y () = YA ()

IF (SENSE LIGHT 3) 8001, 8000
TF (K—K/15 3 15) 153, 153, 152
SENSE LIGHT 3

KT = K/15

PAUSE 2

TYPE 600, KT

TYPE 601

TYPL 604, (X(I) I =1, 10)
TYPE 605, (Y(I) I = 1, 10)
TYPE 602

TYPE 604, (X(I) I = 11, 20)
TYPLE 605, (Y () T = 11, 20)
TYPE 603

TYPLE 604, (X (1) T = 21, 30)
TYPE 605, (Y (1) I = 21, 30)

FORMAT (//3HKT = 14)

FORMAT (/71H 1 1 2 3 4 5 6 7 8 9 10)
FORMAT (/71H I 11 12 13 14 15 16 17 18 19 20)
FORMAT (/71H 1 21 22 23 24 25 26 27 28 29 30)
FORMAT (4H X, 10F7.3)
FORMAT (311 Y, 10F7.2)

PAUSE 1

IF (KT—100) 152, 160, 160

STOP

END (2, 2, 2)

0262 0262 0262 0262 0262 0262 0262 0262 0262 0262 0,262 0262 1415 1372 1.000
0503 0372 0571 0361 0.352 0321 0300 0275 0262 0262 0248 0228 0192 0186 0.178

0. 0. 0. 0. 0. 0. 0. 0. 0. 0. 0. 0. 03 03 03 03 03 03 03 03 03 03 03 03
03 03 03 03 03 03

1000. 1000, 1000. 1000. 1000. 1000, 1000. 1000. 1000. 1000. 1000, 1. 1000. 793. 1086,
1052, 825, 842 1131, 1481 1033, 1210, 628, 1. 634, 984, 1730. 1524, 1266.

120.0

86400.0
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